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7) Given the following graph

b) The domain

l 4, L{] «« -l/!:)( ~ '-/

a) Find f(2) :: - 3

c) All x values such that f(x) = 5

-2 '-/
}

d) The range

[-3,)]
o e _ 3 ~'j~:S-

-4-

-5

8) If 4x + 2y -16 = 0 then the slope is - '2 and the v-intercept is l)
2. ~ -.:::-J to -If X
j':::-~-2.X

9) Find the slope ofthe line containing (-3, 4) and (1, 2)

)(2... -"X,

_ 2 - LJ- .;;;..---

j - -3
-z _-)-- .--. -- -
L/ L

111 z: lJz-l-J)

10) A treadmill is 5 feet long is set to mimic an incline. Then end is 0.5 feet higher than the

beginning. What is the slope (grade) of the treadmill?

tr) /tJ1o 9 r4 d ~


